1. Receptive field setup
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2. Population level setup

Virtual Fingertip (2x2 cm, ~400 RFs)
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3. Discrimination Algorithm

#1. For Unit 1..i; for Element 1..n: A(1..i)@0° = 1 if A(Ei,1) || A(Ei,2) ... || A(Ei,n) = 1) --- (see Eq. 1 in Methods)

#2. rotate stimulus counter-clockwise about its midpoint by delta = 0.5°
#3. For Unit 1..i; for Element 1..n: A(1..i)@delta® = 1 if A(Ei,1) || A(Ei,2) ... || A(Ei,n) =1
#4. if Homming distance(A@0°,A@delta® >=0.05*Nc

discrimination = delta® (done)

#5. else return to #2



